H A XZIE

o1

10.5

BHE |[EREE®AW| txB | #fARILEFUb C
GP15/VP16| 217~220 | 2.0x25 M6 X 30 26
GP20 27.2 2.0% 25 M6 X 30 26
GP25 340 2.0% 25 M6 X 30 26
GP32 42.7 2.0 % 25 M6 X 30 26
GP40 48.6 2.0 % 25 M6 X 30 26
GP50 60.5 2.0% 25 M6 X 30 26
GP/VP65 | 76.0~76.3 | 2.5x30 M6 x 35 28
GP/VP80 | 89.0~891 | 2.5x30 M6 x 35 28
GP/VP100 | 1140~1143 | 2.5x 30 M6 x 35 28
S i i/ X R ARGP)
ME PP RENE RE 1-1
it |[wE |&E 2E Ak
E=mk
i 10180010360 e o2
SHEET
e R AT VIR RS anwss| A3




